Lesson 4 - Use of solubility tables to predict and identify precipitation reactions between ions in

solution.
Visit this link to refresh yourself with the Solubility of some common ionic compounds
writing of chemical and ionic equations Soluble Ionic Compounds Important Exceptions
.. . Compounds containing NOg~ None
of precipitate reactions. CH,0,” None
- Compounds of Ag”, Hg;?, and F:r:

. m Br~ Compounds of Ag™, Hg,®", and Pb**
Consider the solubility table shown on L Compounds of Ag", Hgy?", and Pb?*
the right when answering the questions S0,”~  Compounds of Sr*", Ba’", Hg;*", and Pb**
b | Insoluble lonic Compounds Important Exceptions

elow. Compounds containing 5% Compounds of NH,", the alkali metal
. cations, and Ca®*, Snf", and Ba®* )
1. Complete the table below. The €Oy Ccf:;?g:;mdﬂmﬂa and the alkali metal
first one is done for you. PO, C:::;gﬁo;mdsom}h* and the alkali metal
OH™ Compounds of the alkali metal cations,
and Ca®", 57, and Ba®~

Activity Precipitate | Spectator
ions
Silver nitrate Agcl Na*, NOy Chemical equation - AgNOs(aq) + NaCl(aq) -> AgCl(s) + NaNOs(aq)
solution is mixed silver lonic equation — Ag*(aq) + Cl'(aq) -> AgCl(s)
with an equal chloride
volume of sodium
chloride
Sodium sulfate PbSO4 Na*, NO5 Chemical equation — Na,SO4(aq) + Pb(NOs)s(aq) ->PbSO4(s) + 2NaNOs(aq)
solution is mixed Lead sulfate lonic equation — SO,*(aqg) + Pb?*(aqg) ->PbSO4(s)
with an lead nitrate
solution
Ammonium . NH4*, NOs | Chemical equation — (NH4).COs(aq) + Ca(NOs),->CaCOs(s) +2NH4NOs(aq)
carbonate solution | Calcium lonic equation — COs”(ag) + Ca**(aq) ->CaCOs(s)
is mixed with a carbonate
solution of calcium
nitrate
Ammonium Nil Chemical equation
chloride solution is lonic equation
mixed with a
solution of sodium
carbonate
Solid calcium CaSOs Na*, NOy Chemical equation — Ca(NOs);+ Na;SO4(aq) ->CaS04(s) +2NaNOs(aq)
nitrate is placedina | calcium lonic equation — Ca?* (aq) + SO+ (aq) ->CaSOu(s)
sodium sulfate
sulfate
solution.
Amm.oniym §u|fide Fe2Ss(s) NH4,NOs Chemical equation — 3(NH4).S(aq) + 2Fe(NOs)s(aq) ->Fe2Ss(s) +6NHsNOs(aq)
solution is mixed Iron sulfide lonic equation — 35%(aqg) + 2Fe®(aq) ->Fe2Ss(s)
with an iron(iii)
nitrate solution.
Ammonium . Cas(P0a): NH4*,NOs Chemical equation — 2(NH,)sPO4(aq)+3Ca(NOs)s(aq)->Cas(POy)s(s) +6NHsNOs(ag)
phosphate solution | Calcium lonic equation — 2P04*(aq) + 3Ca?**(aq) ->Cas(P0O4)a(s)
is mixed with a phosphate

solution of calcium
nitrate
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